Population

Review of unit 4

READ THE SENTENCES ABOUT SPAIN’S POPULATION AND TICK (+) THE CORRECT ANSWERS..

1. Most of the immigrants in Spain are from:
Romania and Morocco the United Kingdom and Colombia
2. Atthe beginning of the 20th century many Spaniards emigrated to:
Germany, the UK and France. North and South America.
3. Life expectancy in Spain is:

higher than in 1900 lower than in 1900.

CLASSIFY THE STATEMENTS INTO RURAL AND URBAN POPULATIONS:

Population more than 10,000

Today, most Spaniards live in this
Population less than 10.000

type of population

People usually work in agriculture

100 years ago most people lived in

) . this type of population
Located in large towns and cities
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MATCH THE TERMS WITH THEIR DEFINITIONS:

Absolute population

Demography

Natural increase

Population density

Rural exodus

TRUE OR FALSE:

Circle the correct answer

The difference between the number of births and

number of deaths. Can be positive or negative.

Shows us how populated an area is. We calculate this by
dividing the number of inhabitants by the size of the

area they live in.

When people move from rural areas to cities to find

work in factories.

The number of people in an area.

The science that studies population.

Spain’s absolute population has increased since the 20th century due to improvements in medical care,

hygiene and nutrition.  True/ False

The life expectancy in Spain is higher for men than women. True/ False

Most of Spain’s population live in rural areas. True/ False

Europe is an ageing population. The number of people over the age of 65 years is almost the same as the

number of young people. True/ False

The number of immigrants in Spain is lower than the number of immigrants in France. True/ False

EXPLAIN:

* \What are some reasons why people immigrate?
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NAME THE SPANISH PROVINCES:
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